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3.3 GHz is equal to - i ebmfie 3.3 GHz | (D
3300 % 10 Hz (D)  3300x 10°Hz (O 3300x 10°Hz (B) 3300 x 10°Hz (A
Length of a half circle with radius , t is equal to - - L 13 el | Q)
i@ F© mr ® 2nr W
Spring balance is used to measure the following g : q_n,wmﬁ_z.fg&mm;‘k_( ALY
~ momentum of a body (" ri’(’ (C) weight of abody ubl?’ (B) mass of a body u‘l.g!(’ (A)
pressure of a body ¥ (D)
Inertia depends upon R ' ee/Apn | @
| mass vt (D) velocity ¢ (O metforce e (B) Force v (A)
The value of Sin 60° is equal to cdngieLadS Sin60° | (5)
| 0577 @  05(© 0707 (® 0866 (&)
'Thc value of g increases with the - i .;.J";JJ g | (®
: increase in altitude <=4 (B) increase in mass of the body PRROR 7N
decrease in mass of the body a.Lx(du’(’ (D)  decrease in altitude elafs (©
| The kinetic energy of a body of mass 2 Kgis 257, its speed is Sntrduie 253 g v’ Lo/ X2 |-
' 15ms’ (D) 25ms’ (© 125ms’ B Sms' (A
q-r/dmzmﬁ’lfdﬂ&w‘uwfwdsew ®
W'tnch one of the following converts hght energy into elcctncal energy .
electric cell LS (D)  photo cell P (©) electric generator 120751 (B) electric bulb w1 (A
Wluch of the substance is the lightest one 4.&‘;.../ (s | O
Lead .+ (D) aluminum =4 (©) mercury /7 (B) copper ¥ (A)
'W_ater freezes at ' - . mw;a,éf&g 10)
o 32°F (D) -273k (©) 0k (B) 0°F -(A)
The threat of global warming on our earth is due to the following gas 4..4.4:&}{ Lpsen KB ss S gt e | 1D
Oxygen gas ST (C‘) Nitrogen gas v ke (B) Hydrogen gas S Pridf (A '
_ : Carbon dioxide gas ¥4 TdBezx (D)
The SI unit of thermal conductivity of‘ a substance is ' _ etnesy SI 3.0 }JL‘/ (12)
| wok! @  wm%k? (© wm'k' B Wm'k W]
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| | {PART J} d‘,l‘d‘l- 2018-2020 t 2015-2017 : L‘i?rf
Q.No.2 - Wrlte short answers any Five of the foliowing ©  '5x2=10 (éﬁ”ﬁ&-&mf _55 = Lite) 2 Al
Define Nuclear Physics and Plasma Phys!és _ &yﬂﬂt)@dﬁﬁ& i
What is meant by Ie-aat count of vernier callipers ? | f .;.;w’.—..mr.p.-'&,,k’,z;, r
Define zero correction - = 4:-!/1@’{#5(5 r
Define position é‘,f:e_/'{_fu‘w v
Defferentiate between distance and dispiacement 2 4/ ch};ﬂ MIJ#') ]
Define force and its unit : : _Mﬁ;égbﬂ@} '
State Newton's First Law of motion : . %}kwﬁfﬂ;fe’r&fi pa
Definie mass and write Its unit in 8.1 _ ;. _ &2 s.;..:xg(w»:{.yﬂm A
Q. No. 3 Write short anawers any Flve of the following  §x2=10 (& farr Pl ity $le Lt 3 A
Define centre of ma-la_ and centre of gravity %&ﬂ&tfd%ﬁﬂ.’b‘-’" I
State the principle of moments ' éﬁ)bdﬂb@"’ | r
What is meant by global positioning system ? S . & fe b/ ..ﬁ*.’).gd:r r
| A machine does 4 joule of work in 2 seconds. Find Its power - #Fﬂ"»kg(d!g.&_{'lﬂﬁ 4 Lie2054| v
Why does the value of g vary from place to place 7 : el DyuF Dt g| s
Define power and write Its SI units @iy s ruwr{:e Alng| ¥
Write importance of wind energy éfaﬁlzﬂ,{}ﬂ, P2
Iifa pump ha_s power of 1120 watt. Convert it into horse power (hp). . %{M::;w}/m?xéh 1120 »ggfﬁ.-(..{bfl A .
Q. No. 4 Write short answers any Five of the following 5x2=10 . é{;faﬂﬁﬂ&aﬂr&ioddl@a) 4 )y
Define pressure and write it mathematical formula ' ' :g‘ﬁmqw’quﬁrﬂf-; E
What is upthrust ? State principle of floatation ? : .if;)ydr"lﬁ..,e' ? el VeS| T
What Is Hooke's law ? What is meant by siastic limit ? - § el ad Byl ¢ o Sulvig | v
Define the terms heat and temperature - ' 4’.';:,{(.,4.@&4’»{@0 "
What is .moarit by internal energy of a body ? t PV?G—&/U/"J(’UI 8
What measures do you suggest to conserve energy in houses 7 T Z;{fzfe-ujl:_ufé’_dfb’ﬁdz'ldu.yfﬂ Y
Differentiate between conductors and insulators - _ %ﬁJM}MU}Cﬂ' ‘
| How many factors affect thermal conductivity , also write their names #?‘B&ul $ ‘,g:.-‘f..M...uz.f:-w’def‘ﬂ’J) A

(L_(PARTIl ) pyddena )

NOTE : Attempt any Two questions from this part  9x2=18 &fwﬂﬁéalﬂn&dfaw tad

Define 'ceﬁﬁipebal force, derive its equation and give one example 4 :g‘,db-.{u,fqﬁ;!mw{ma{:yﬂfw}m (4 | (A) -5 Al
5 Iy () SemidenpdBUs () S s BiRgt il 6 U - SO AN | )

A crickot ﬁall Is -hﬁ vertically upwards and returns to gréund € S later. _ :

Calculate (i) Maximum helght reached by the ball (il) Initial velocity of the ball

Define Equillbrium ? Explain conditions for equilibrium .4 %kﬁl}if Uk f,ig:#ﬂféédf ' (a) -6 41
' 5 M,M;ﬁ,;mﬁk‘dw’ﬁ?cﬁﬁx 108 FYAGAS 16m A 70kg 4 fi| (B)

Calculate the power of a pump which can lift 70 kg of water through a vertical height of 16 meters

in 10 seconds. Also find the power in horse power - ) '

Define volume thermal expansion of solid , Derive its formula 4 {mu{mn’m ¥ e SRR | (a7 A

' 5 4?»»&&3&;: - ¢ 042 N UL Be 0.48 N ik § s i ®)

The weight of a metal spoon in air is 0.48 N. |ts welght in water is 0.42 N. Find its density
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fﬂajﬂu,dzujr 1Lk Si 4/ ..bﬂ)_fy( Ustwhefl -5 AeiBl
1Adir
* The least count of Vernier Calliper is . 4.&1’5".*-'.‘"’#( Zn | (1)
- 0.01 mm'.-ﬁn) oiem (© 000imm (B) O.lmm (a)
| The 8.1 unit of acceleration is ' W{Vgﬁ)ﬁgﬂs.l @
_ s ) ms? © ms” (B ms (A
The rate of change of momentum is ' _' ey q—b}tﬁtiuﬂﬁ'{f €))
| Distance i (D) Work S (C) Force (i (B)  Torque S )
The unit of momentum in S.1I is : _ M{fﬁ"f rist | (4)
: Kgms" (D) Kgms™ (© NS (B) Nm (A)
The mathematically form of the second condition of equilibrium is’ 44)’ L}l-’ J s /"Lf/ !JJ ﬁﬁ'dif (5)
‘ ' tw=0 (D) 2P=0 (O gF=0 (B) r=0 (A)
The formula , mass of Earth is ' 5 q..Ufﬂu‘Lb’c):J 6
' |  Me= _P;g R '-'_-_:.Me.= 52—2 ()  Me= %‘- (B) Me= Effi |
Power is equal to Az | (7)
. oy Lo e TW
t t t t
_ | Er sl sl i b miewiids | (8)
‘| Work will be maximum wﬁcn the angle between force and dhpllacé'm-ent will be o |
o 150 (D) 9%0° (© 60° B 0 W
 Volume of one liter is equal to \ - il etrslzpsdls Hgi | (9)
- : _ Lemd (D) 10cm’ (©)  100cm’-(B)  1000cm’ (A) |
Which of the ollowing materal has large specific hea SO te Jo¥or? chrvpplod (10)
R men':.ufy' S/ (D) Water (33 (C) icewdsz (B) copper 4¥ (&)
False ceiling is done to ' ' : ol g Qumgs= | (1)
Keep the roof clean eoofeqd (B) Lowerthe height of ceiling gf( Jy’sl Sag(a)
_ _ ~ insulate the ceiling tSalPifeg (D) Cool the room tflﬂfc.-/ ©
The thermal conductivity of copper is P P A B A6 | (12)
400 Wm™'k' (@) 300Wm'x' (©) 200Wmk' (B) 100 wm k! (A
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5 4;:"‘&-’“{-?@:’;&"?6{1'&0"&'36 15 me™! SALLS 500 (B)
_ASOO g stone Is thrown up with a velocity of 15ms™. Find its &)I.Qél'é:z.vfc-cm (ii) &/’Iﬂ‘rl}g{}ﬁ ()]

(i) P.E at its maximum height (1) K.E when it hits the. ground

. (PARTY) Jsldenn 20182020 t 2015-2017 ° S
'Q. No.2 Write short answers any Five of the following 5x2=10 (éﬂﬂmﬂ.&wwr Gg e LJite) 2 f.UIr
Convert 12 years into seconds . ﬁﬁﬂdv 121 !
Define least count and write the least count of Metre rule : a!d..’;‘i ¥ Sb)f-'»lai.e ﬂ}'.vﬂ‘ ad| T
What is digital stopwatch ? Write its least count P g i lsbuN S 4.{_@,.,.&.}!»‘3 r
Differentiate between distance and displacement ' @koﬂﬁ ashibei |
| s G PSSPt flre o) @
What would be the shape of speed-time graph of a body mw_l_rig with variable speed ?
Describe two situation in which force of friction is needed ? ¢ q..axw:ﬁff Mu’:@bufa‘dm 1
What is difference between sliding and rolling friction 7 @kd}&dy M:ml..f | 4
Why is It dangerous to trav?l on the roof of bus ? T q.;.t:n.f L’M k)}'{.bﬂ(;f ﬂ
Q.'No. 3 Write short answers any Five of the following 5x2= 1§ (éﬁumﬂﬁmuv ﬂ'c-pﬁdjjt-,w) 3 A
state firet condition of equilibrium, Write its mathematical formula ék;sqwméﬁmﬁlﬂéédl i
Why the height of vehicles is kept as low as possible 7 _ ¢ o el F P Sindunst | v
vﬁhat_is meant by gravitational constant ? What s ts vaiue in SI P N LT L el |
Why does the value of " g " vary from place to place 7 t q.a.nu.{ J{g)x‘-..”.:-f S g”lr
ﬁtfferantiate between artificial and natural satellite QZJL-J);,C.J Wi | o
Why fossils fuels are calied non-renewable form of energy ? T q..,tw’u[ fgiJﬂJ&)Mﬂ;f IR
Write down two causes of thermal poliution ' %kvvmﬁ-o&.‘di 7
What s meant by Mass-Energy equation ? _ ' § gL A |
. Q.No.4 Write short answers any Five of the following © 5x2=10 (&iaymﬂéguvﬁgﬁbz«w 4 S
r$tate Yoﬁng‘s modulus and write its formula ) ' : E.A.lr;ﬂ’ul;si@:yw}ﬂ’u‘}!ﬂt‘ N
Find the volume of 200 g of lead shot having density 11300 kgm™ & 11300kgm™3 &‘%Jf%b(.és,r‘.jﬁyruf 200| *
What is _dﬁ'fa_rencs between upthrust and principle of floatation 2 f {.J)gruﬁdflf—i.jnlwﬁfdl{l r
Define latent heat of vaporization and write its unit ' " oy ferrfSsud | '
Convert 20 oC on celsius scale into kelvin scale . - &Mdﬁuﬂ 20°C 4&:‘..}'—*’ 0
What causes a glider to remain in air ? ¢ {.y;-.'i’z,'..dbtﬁaé‘lf 1
Define thermal c.onducuvit.y s : g:*ﬂ;f:i&"ﬂ B | <
Wh.y' are ;'netals_ good cohdu&on of heat 7 . $ Ul A E S| A
: ( (PARTII ) py2deaa 2 O
-NOTE : Attempt..any Two questions from this part .. 9x2=18 : 4}.;,#1&;.»!%3{4-@& td
Derive the first equation of motion with the help of speéd-tjrha gfaph 4 43-!.;1,ng‘;fgﬁa.;4gf_]lff’ bzl (A) 5 /.U‘f
5t hutochtiod § 20N 2L SigdaS 22 N8 2L | e
‘How much time is required to change 22 NS momentum by a force of 20 N ;
State'and explain resolution of forces 4 Z‘.fd .:wl-'-wlgs’:lk )"J}\-;T&;A’ZJ (A) -6 /.‘UV

D'arhfe_ an equation L'=Lo (1 +oC AT) In linear thermal expension in solid and define coefficient of linear thermal
expension from this equation '

s e ol Ll T 73 K s 20.000 N < 30 em XU A Aottt 1)
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